                           Leapfrogging
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In leapfrogging you must interchange the two colors of frogs by moving one frog at a time.  The frogs beginning on the left can only move to the right.  The frogs beginning on the right can only move to the left.  A frog can move to an adjacent lily pad or can jump a single frog of the other color.  


You goal is to figure the minimum number of moves required to interchange 10 pairs of frogs.





                 2. 


            





1.  Try setting up a coding system for the moves…








3.  Do you know the number of moves to interchange 10 frogs?  What is the equation for the function to model this data?








